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Honors Physics Test -- Ch. 6 - 12-04-02
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Problems - Follow the 13 commandments. Draw and label FBD where indicated.

1. A 1000 kg pickup truck slams on its brakes and skids to a stop. (a) Draw and label a good FBD. (b) If the
acceleration is —3.78 m/s?, what is the coefficient of friction between the tires and the road? (c) Is it ps or py?
A 20 kg box in the bed of the truck has a static coefficient of 0.38. (d) Will it slide in the truck? Calculate or

tell why.
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2. A guy drags a 15 kg box across a parking lot with a rope that makes a 32° angle with the horizontal. He
exerts a force of 40 N on the rope. (a) Draw and label a good FBD. (b) If i is 0.28, what is the acceleration

of the box?
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3. A 25 kg box is held on a 28° incline by a rope which runs parallel to the hill. The s = 0.3 and py = 0.25. (a)
Draw and label a good FBD. (b) What is the tension in the rope? (Itis not 115 N.)
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4. A 700 kg car is set down on a 20° hill which is covered with ice. The px = 0.10. (a) Draw and label a good
FBD. (b) What will be the car’s acceleration?
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EC) Mass 1 is 25 kg and mass 2 is 20 kg. The mk between m1 and the
M1 hill is 0.35. (a) Draw and label a good FBD. (b) What is the
M2 acceleration of the masses? /
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